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General Instructions :

(i)  The question paper comprises two Sections, A and B. You are to attempt both the
sections.

(ii)  All questions are compulsory.
(iii) All questions of Section A and Section B are to be attempted separately.

(iv) There is an internal choice in three questions of three marks each, two questions of
five marks each in Section A and in one question of two marks in Section B.

(v)  Question numbers 1 and 2 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

(vi) Question numbers 3 to 5 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on practical skills. Each
question is a two-marks question. These are to be answered in brief-
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Section — A

HUSA A A HE o 1Y I S 7T o WY fo7g 37N 370 Foh0T g F, |t 3eaw o |
32 39 Hald F, | e Seqor foa 1
Mendel took tall pea plants and short pea plants and produced F, progeny through
cross-fertilisation. What did Mendel observe in the F, progeny ?

AN (J9 719) % FeFal o A9 [RaT | 1

Name two constituents of biogas.

Hiersh o fafim wit faftre % @ w9g & | oHa afeash < 38 9F 1 9 iee S
fr=ferfaa e #ar g -

(a) U I W BN I FAeT

(b) T (It 3AMI)

(c) Tertht uftrer st 3T

(d) wTEfeRet AT 2

Different parts of brain are associated with specific functions. Name the part of
human brain which perform the following functions :

(a) Sensation of feeling full

(b) Vomiting

(c) Picking up a pencil

(d) Riding a bicycle

SIS o TATSThdT ISl H TR SI BId & | HTe fohd TR o AT ST Tehal & 3R
FT 7 T AfTRT T T IeTen ferfau | 2

Carbon has four electrons in its valence shell. Which type of compounds can be

formed by carbon atom and why ? Give any one example of such compounds.
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5. I3 T 20 cm IR gl o ToRE STadet gUO1 % WA 40 cm gl R ferd & | widfes
TR 3R srepf Td SHIT | 38 TohtoT 1 e 1 qRTiH o foTe fertor st @i | 2

An object is kept 40 cm in front of a concave mirror of focal length 20 cm. Find the
position and nature of the image. Draw a ray diagram to show the formation of image
in this case.

6. TEEIAA fhH HEd & ? TS H TR UIGH T ATHI(hd TG Eideht gHTcHe TecaTad
3TN HUITeH TTeedTad SISy | 3

What is geotropism ? Draw a labelled diagram of a potted plant showing positive
geotropism and negative geotropism.

7. “NTehicieh GETLAT o1 HUINT T2 91 ¢ 7 I8 FA1 NI 8 7 TH:=H0 HI I 3941
T ¥ 31 ford STUATEN TR =Y ? 3

What is “Sustainable Management of Natural Resources” ? Why is it necessary ?

Which one out of reuse and recycle, would you practise in your daily life and why ?

8. 3w @erwT foheg shad & 7 A oAVl |HIA: 3Tedl difedl o agd @ A8 B 7
R ST | 3

What are acquired traits ? Why are these traits generally not inherited over
generations ? Explain.

9. = feu 7w uftgy W fomm Fifse

(V)
-
50 80 120
()=
—AAA——AAAA
(&) AAA

6V
HHHH—O)
IS Froll I 8, TS WX TR SiceHIet o T UTeeieh BRl ? 379 3T <h! SR Afed gfY
HIT | 3
e

e wferierehar 558 had 8 7 HehT SI W ogcq— hifore | ferelt Soft fergga afty 4,
fSrem &g o dR 61 D15 Tt Je1 7, THIK 1 ueish 100 mA & | Afe IR <l oramg

I g AT R fearm Sre, ot aitay § yerfad am form yeer iafda arft 7 st s gfy
HIT |
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Consider the following circuit :

(V)
(V)=
50 80 120
)=
—AAAM——AAMAN
(A) AAAAA-

6V
HHHH—O)
What would be the readings of the ammeter and the voltmeter when key is closed ?
Give reason to justify your answers.

OR

What is electrical resistivity ? Derive its SI unit. In a series electrical circuit
comprising a resistor made up of a metallic wire, the ammeter reads 100 mA. If the
length of the wire is doubled, how will the current in the circuit change ? Justify your
answer.

foret Taem 3R b TEAell H 1g 39 IfEaH FeAEse ookl 380 2 mL 915 TewR]eh
31 Temen o 2 | 9l It 19 o1 aeT et I et fofewd o3 37R iRt o1mg, et
fotermg w1 gra foran T B, A 599 9 forw weRtor § foten w1 & U1 H giteadd g 7 39e
I % forw swror dfse | 3cafia g & fawa 3 o frsed fesrent S @epd1 @ 7 319 I
%1 gft o fore qemfres wrfiet € |
Al
(a) hh ST H STShTT ITSST kT SUANT TohaT ST & | Afe STT9eht ATaTs 88 W heh S
T SRt T3S & T W ATk HIST 3TN HLd! &, 1 I8 heh o TG i bl ThR
TR ST 3 T ?
(b)  sfh Arer Bt Sfehm et # fohd TR witafda fram sran @ 7
(c) heh ol GATIH 3TN T~ hid ST ?

1 g of solid sodium chloride is taken in a clean and dry test tube and 2 mL of conc.
sulphuric acid is added to it. If the gas evolved is tested first with dry and then with
wet blue litmus paper, in which case will the litmus paper change colour ? Give
reason for your answer. What inference can be drawn about the nature of the evolved
gas ? Support your answer with chemical equation for the reaction.

OR

(a) For the preparation of cakes, baking powder is used. If at home your mother
uses baking soda instead of baking powder, how will it affect the taste of the
cake and why ?

(b) How is baking soda be converted into baking powder ?
(c) What makes the cake soft and spongy ?

5
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st & gd A fafeRaa it w1 ST w &1 $o @9 aiefad Sife Safes
frga Mol s P fw6.002 |

(i) 1000 W S fergd drex wfdfed 5 =
(i) 400 W b1 ferega Thierex sfafea 10 =52

Calculate the total cost of running the following electrical devices in the month of
September, if the rate of 1 unit of electricity is ¥ 6.00.
(1)  Electric heater of 1000 W for 5 hours daily.

(i)  Electric refrigerator of 400 W for 10 hours daily.

HET T AR YATGROT o 7T ohl UTd TR {ferent Walean 3 Semewt $eM1, wnfeesh,
SIS 3TM(C o TA™ % BTHHL IHET W o (A7 | BET 7 I8 I T efeh Sfeq |
AT T TicA 1l 6T 9 JHT O ST BT @ T8 9=kt =1 3T o STdTeil shl
Wed ST 91 bl & | 384 I8 =g T fop gn meft firetet 39 femmera =i
“ TATIECh STR T~ o SHTET TUT Teh— G ol $7eh A H ¥ STANT % 78 TTd i
HT |

(a) <fep Sfiam A utefiefia 3T wifeess 1 39 u i foran ST =iz 2

(b) B A I fr=rer™ # 39eh IUAI & =9 67 TehR R grm 7

(c) 3T fre=a i Theral o fore BT 3 Th-gEr i fore wehr e foram 2rm 2

While teaching the chapter “Our Environment” the teacher stressed upon the harmful
effects of burning of fossil fuels, plastic, paper etc. The students noticed the extensive
use of plastic and polythene in daily life, which can be avoided and the surroundings
can be kept clean. They decided to make their school “plastic and polythene” free and

motivated each other for its minimum use.
(a) Why should the use of polythene and plastic be reduced in daily life ?

(b) In what ways the students would have avoided the use of plastic and polythene
in their school ?

(c) How the students would have motivated each other for the success of their
decision ?
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& it arfrfeRan

MnO, + 4HCl — MnCl, +2H,0 + Cl,
(a) T 38 Afires o1 T8 forfae fwept (i) 3=, (i) 3TU= 83T 8 |
(b) o YT T IT=IA IR 3T <ht i farRg |

In the reaction :
MnO, + 4HCl —» MnCl2 +2H,0 + Cl2

(a) Name the compound (i) oxidised, (i1) reduced.
(b) Define oxidation and reduction on its basis.

FAT BT & 3o Foher 1 Iufefa & fopet ameafa ot & g8 1SSl a1 & 7 39
Frfurfspan w1 am fafge aun seafa 9a 3R stfufran g 9er @ ura 3cTe & wifas
ToTEHT H Teh =R fARIT | 39 SR H Frohat shi yifHeRt o1 Ieci@ I |

What happens when hydrogen is added to a vegetable oil in the presence of nickel ?
Name the reaction and write one difference between the physical property of the
vegetable oil and the product obtained in this reaction. Write the role of nickel in this
reaction.

& Torel Al <l SSTCTT o1 WHT |ISS 1 3ol i Sarell § 4 m gl T e fopeft
¢ ST ST ¢ |
(a) TorE <ia o1 Tt fohar ST & 38k Wk T A fotfiaw |
(b) 9 iE I HIhE G AT B TG SR 34 WHeI ol saren § fehat it o w@n
ST =T ?
(c) 39 gohtor 1 fafers ST g@iA & fow Amfend feptor s Eifem |
YAl

SCm?Z_tﬂﬁﬁﬁTH150mW@%WWW%W3Ocm@WW% |
T 9ot wiafers 3 e, arsst 3t wehfa sma i |

We wish to obtain an equal sized inverted image of a candle flame on a screen kept at
distance of 4 m from the candle flame.

(a) Name the type of lens that should be used.

(b) What should be the focal length of the lens and at what distance from the candle
flame the lens be placed.

(c) Draw a labelled diagram to show the image formation in this case.
OR

A 5 cm tall object is placed at a distance of 30 cm from a convex mirror of focal
length 15 cm. Find the position, size and nature of the image formed.
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(a)

(b)

(c)
(a)

(b)

(©)

(a)
(b)
(c)
(d)

(2)

(b)
(2)
(b)
(©)
(d)

(a)

(b)

Trechi & T@Td T B & 7 & @IS b ST ik gEehid & § feheft farg
T grehi &3 1 feum ford yeh Sira < STt & 2

< JATRR FUSIRT X 3TN Y’ TH-GR o fehe Tt & | A Foeett X o farega
o1 qiterd fema ST, d @ pueett <Y o g o Uit Bl 7 o dfv |
“FATET o1 gfeor g frm foafem |

What are magnetic field lines ? How is the direction of magnetic field at a point
in a magnetic field determined using field lines ?

Two circular coils ‘X’ and ‘Y’ are placed close to each other. If the current in
the coil ‘X’ is changed, will some current be induced in the coil Y’ ? Give
reason.

State ‘Fleming’s right hand rule”.

e H o[R! o AT fa@ued < gHe g At ST1fshan o1 gefiehtr forfiaw |
ol o o H vaE i Tiskan fafa |
FEGH H IUTEAT TR S T o1 A1 TARIT | 356 & ! 1 g 1S |
Tl § Y8 FUTeh o1 TH 3T 36eh! Teh Yfirent fotfam |

T

B 91Tl § 9 JH o1l T9r skl Uik o TR o1 919 fafiay 3 3geht samen
HIT | 38 gfehan & fou steawaes = gmf fafge qen gfsean <1 qaates
HHIROT ENTT |

3 TishaT § B dTel! i T3 oh1 ot <hifoTT |

Write the reaction that occurs when glucose breaks down anaerobically in
yeast.

Write the mechanism by which fishes breath in water.
Name the balloon likes structures present in lungs. List its two functions.
Name the respiratory pigment and write its role in human beings.

OR

Name the process and explain the type of nutrition found in green plants. List
the raw materials required for this process. Give chemical equation for the
mentioned process.

Write three events that occur during this process.

8
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(a)

(b)

(2)

(b)

(a)

(b)

(a)
(b)

(a)

(b)

(2)

(b)

TIfCThT o6 &9 § 37 I TERIS 7O hi T SR fSHeh LR W a1gaii 31K
T3 o s 3T fepam AT 2 |

AR I ST 8 S o &l 3T [ha |

List in tabular form any three chemical properties on the basis of which metals

and non-metals are differentiated.

State two ways to prevent the rusting of iron.

S~ G117 ? 3Hh! RO TARGY | 3eh1 HRTa foprg TohR fop ST & 7

TG o 99 I WA F®T TdId 8ial 8 ? AHIThd 3TRG s TERdT 8 SR
HITT |
What is presbyopia ? State its cause. How is it corrected ?

Why does the Sun appear reddish early in the morning ? Explain with the help
of a labelled diagram.

fafirrar w1 & 7 Reeh aufy o fafvrar fre yoer 3= Bt @ ¢ el wfiefie o
g Tafir=rar 3oeh! SahfadT § fore TR e aidt & 7

ST ST Foh TifTeh S ot aTet Sftal § Seh T Fatd § UrgE shl T 99
forg TR ol Tt 2 7

What is variation ? How is variation created in a population ? How does the

creation of variation in a species promote survival ?

Explain how, offspring and parents of organisms reproducing sexually have the

same number of chromosomes.
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310 I T Y HEd g MY trad areft 7 foreft armed § a1d ¥ ¥ 9 W awi %

= feu 7T ereEt st i St e i -
(a) GFSThdr T ferror (ufada)
(b) - P  ufteda
(c) wfceres © 3Terfceres oTeTor
(d)  ToreIa FUTTcHhAT-&To
(e) imTESt 1 Bl
e
(a) IS o Al o SIShTUT Shi STTYT &RIT T 7
(b) TUSTHIE i 3Tard TRt i g ITATeRI ht T SRy |
(c)

Explain giving justification the trends in the following properties of elements, on

moving from left to right in a period, in the Modern periodic Table.

(a)
(b)
(©)
(d)
(e)

(a)
(b)
(©)

3 Topgl g1 Yeauni <hl g sTsy fai Hugefiss o trerd e =1 I |

Variation of valency.

Change of atomic radius.

Metallic to non-metallic character.

Electronegative character.

Nature of oxides.

What was the basis of Mandel&ev’s classification of elements ?
List two achievements of Mandel€ev’s periodic tables.

List any two observations which posed a challenge to Mandel€ev’s periodic

law.

OR

10
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Section — B

Toreht feremmera <t SRITTRITCAT © BT % YNGR USHISh 3T < UIHT ol 3T L 1§
E | 3 5okt 3Tl Bt w1 wieaT foRE WehR ot ehdl & 7 @ wteqr fetfae |

In a school laboratory the students are studying the properties of ethanoic acid
through certain experiments. How can they test its acidic nature ? Give two tests.

ffee H ST g o forg 3ferd 6w o a1t @i |

Draw diagrams showing reproduction in yeast in proper sequence.

Ik UTE < < TR A R -

I (0-1A), FeeHIE (0-3V), 20 Q T Tfcigh, Fril, arT ==, 3V 6 delt qen
7 TN AR | 39 ATl ST 3T Kk TRt wfatias & anfea faga g (1) w3\
gfeiers o T & & fawer (V) i Ffar &1 sterm o & e amifed giwy
IE Gl |

You have following material :

An ammeter (0-1A), a voltmeter (0-3V), a resistor of 20 €, a key, a rheostat, a battery
of 3 V and seven connecting wires.

Using this material draw a labelled circuit diagram to study the dependence of
potential difference (V) across a resistor on the current (I) passing through it.

i h! FFATHR Feel! & TR areft Tehrer fohtor b1 7o STRREd S & J=m o fopeft
BT A 379 Y&IuTi <h! dTfetentaig feham | Jf /8 379 T § € qTa=ient o foefu i < g1 o
40° 3R 50° 1T 7, 1 T TR H Le 3R 1 < Tal 7 91 & =17 ?

YT

15 cm ®i%hE gl < 3T oF gRI oF | 25 cm gl X e Tepelt forrat b1 wicfemray siemm
T & foTu ArmTfeRd foptor s difaw | afe forar =61 98w 4 cm B, @ gfdfers =1 @Es
feifa Hifs |

While tracing the path of a ray of light passing through a reactangular glass slab a
student tabulated his observations. If in his experiment for two readings he takes two

values of /i as 40 ° and 50°, what should be the correct values of Ze and Zr in each
case ?

OR

Draw a labelled ray diagram for the formation of image by a convex lens of focal
length 15 cm when the object is placed at a distance of 25 cm from the lens.
Determine the size of the image formed, if size of the object is 4 cm.
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IIHA 61 AT T HTeH STEITFITES o Icaat 1 I L b TN hi TR ST
ST ATIfhd ITRG Wi |
Draw a labelled diagram of the experimental set up for the study of liberation of

carbon dioxide gas during respiration.

foreft feremerar <t SrewTRITeTT & “ETEF 6 I I HAR AT g A § oIICH IS &l
T LI T o 1T AR ST T AT ITAH &l & | TeT bl hdR §M o o7 it h
STt H SRS | <hi9 &7 e AT ST Tehdl & 7 JAT H |G I TwTE &19al shi goi
H H A R 7

In the laboratory of a school, the sample of hard water is not available “to study the
comparative cleaning capacity of a sample of soap in soft and hard water”. Which salt

from the laboratory can be added to tap water to make it hard ? In the experiment

how is cleaning capacity of soap compared ?
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